Math 173 - Quiz 5 Name __l¢ey
March 10, 2011 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) Show that the following limit does not exist.
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2. (3 points) Show that f(z,y) = 22 + 3zy + 4?2 is differentiable everywhere on R?.
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3.

(2 points) In 1897 Thomson conducted a landmark experiment in modern physics when
he measured the charge-to-mass ratio of an electron. The currently accepted value of
the electron’s charge is 1.602176487 x 10719 C with an error of £0.000000040 x 10~ C.
The electron’s mass is 9.10938215 x 103! kg, with an error of 40.00000045 x 1073 kg.
Compute the electron’s charge-to-mass ratio and use differentials to approximate the
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(3 points) Suppose that z is implicitly defined as a function of # and y by the following
equation. Find 0z/90y and 0z/0x.
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